SH6-7TFEERREEFRRMTBE—KXTITHE) 1/2
BEHE BExIE T | o -
EE ExEg SENE | SmiE | o EE
1|HERES = 1471 1376 95 A
2| KiERFE =4t 1340 1243 97 A
K=t #ARHM 1229 1142 87 A
4| #ALEE R4t 1206 1113 93 A
5|[F0FEE B 1187 1101 86 A
6t THiEE 1185 1098 87 A
T EEES HKAsd 1170 1072 98 A
8|1t EILTE 1069 987 82 A
9|1t NIFRIER 1065 999 66 A
IEXEX A4t 1065 988 77 A
1| RER =4t 1061 975 86 A
12| AEEE &4t 1037 966 71 A
13|#%RXEH KEEE 1029 943 86 A
14Xt FE 1013 935 78 A
158X = ok 975 902 73 A
16| E4t EREE 961 882 79 A
17X =t KiGH 957 875 82 A
18|kt BRENESR 955 895 60 A
19[St EMEHE 949 880 69 A
20|5FEEx KxAsu 945 881 64 A
21|i%EX=1t —7 942 892 50 A
2|t VEILER 921 858 63 A
23|kt FKHA 910 845 65 A
24|FEcEER A 901 836 65 A
25| HRE v ER 895 851 44 A
26| BEfR=1t H/ LEER 883 832 51 A
27|1#% k=1t AP 865 810 55 A
28|t SHIEER 864 813 51 A
29[ Et X 863 834 29 A
0| ARt SITHE 852 821 31 A
| BRESHt EFBER 843 791 52 A
2|t RIBET 827 786 41 A
B HAEHt SEER 826 793 33 A
MBEEE KA 807 761 46 A
B REEHR KA1t 801 768 33 A
6|BRSt MEHLE 819 768 51 B
| HEREH ERE—L 810 773 37 B
BlHrX St HWILER 795 758 37 B
A NIIOFT 789 764 25 B
| AR KREIHE 789 761 28 B
M=t JLEERAS 781 757 24 B
NRXEt ERER 779 749 30 B
3| BREH MAKRESR 775 756 19 B
MM BEEEZEER HAsw 767 726 41 B
IR FEESRTE 766 741 25 B
46|t FEREE 757 725 32 B
47|1% =t BKER 754 711 43 B
48| BR=t WM EFEE 753 723 30 B
V| EREH BRIKE 743 691 52 B
50Xttt RIETE 742 708 34 B




SH6-7TEEEREFTERRMNT(BE—ATIE) 2/2
BEHE BExIE T | o o
EE ExEg SENE | SmiE | o EE
51|14t o EILR 739 716 23 B
52l BBt 7—hRZTF 721 715 6 B
53| HEKEER HA=%t 712 681 31 B
54| GlR&it ERIKE 709 676 33 B
55| &t AIILE 707 688 19 B
56| skX=#t HIFEHA 703 675 28 B
57| BREH mRER 697 676 21 B
58| AREEM HA= 693 688 5 B
5| BR=#t AF0 689 659 30 B
60|t SHITE 686 647 39 B
61|BRSt BREEIE 658 642 16 B
62| = BEER A= 657 631 26 B
63| kX EHt BiHESR 655 627 28 B
64| RNt DOFETH 651 642 9 B
65| LUK TFEE 646 630 16 B
66[#kxX£% HARU—KEN 642 632 10 B
67| AR HEFIEE 640 609 31 B
68| 1T A ER 636 604 32 B
69[SVUEEX K& 624 603 21 B
0|FEAM B 622 595 27 B
N=REM =4 616 601 15 B
AL A 600 592 8 B
3 H%A=1 EXHE 548 545 3 B
1A% S pEHITE 515 507 8 C




